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Janice has thres coins in her pocket and they ave alldiferent from
each other,

Jeremy has tree coins in his pocket and they are all the same as
ach ofner.

Jeremy has twico as much maney as Janica.

What are the coins they each have?
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Five times 2 nubor givas the same ansvier as adding 24 o tha nuhr,

What's the rumber?
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The letter 'T" o this squars grid has an area of 200cm®.

Galculate the perimeter of the ‘T
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A pice of wire s 60 cm fong.

Itis bentinto a shaps that consists of three
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Howlong is the side of a square?






